At2H(171/300~3509) 3,153 2,741 412 | 15.03%

B (17H/650~700g) 3,344 2,996 348 | 11.63%

2(170/1kg) 1,768 1,653 115 6.98%

H 25 (1 7| /3kg) 3,958 3,900 58 1.48%
CHIt(1FS/1kg/QH7HA) 2,529 2,685 156 | -5.81%

20[(37H) 2,971 3,113 142 | -4.56%

EEAALD S§ K| 27| (= 4t/ 2/600g) 17464 | 17,482 18 | -0.10%
(1622 St 7|(10t2]/1kg) 8,253 8,243 10 0.12%
2| 07| (= 4/= 72| 2K /15 5/6009) 37,398 | 36,206 1,192 3.29%

27| (=4t/&4/6009) 59,080 | 64,584 5504 | -8.52%

S ZF(1E/CH 2H/307H) 6,946 7,364 418 | -5.68%

Z7|(10t2] /= 4F/15cm) 1,789 1,582 207 | 13.05%
ZX|(10F2| /= 4F/80cm) 6,538 7,129 591 | -8.29%
nS0{(10r2|/=4t/30cm) 3,748 3,646 102 2.81%

FHE{(10F2|/2{ A OFAt/40cm) 4192 4,421 229 | -5.18%

LA 0{(10r2]/8H-5/30cm) 5,591 5,509 82 1.49%

2 (20kg) 55,988 | 57,438 1,450 | -2.52%

He| (= 4/1kg) 3,358 3,348 10 0.30%

L IH(1kg) 2,242 2,370 128 | -5.39%

7HObE (1kg) 9,621 10,607 986 | -9.30%

LILE(ZEHE/1kg) 2,112 2,130 18 | -0.85%
F(12/300g/FLL/SEHE) 1,433 1,483 50 | -3.37%

MEE *'R%m BL/E718) 8,610 8,610 - 0.00%
= FIHE (1kg/=LH L 28,553 28,553 - 0.00%
IJ1|"4='—(1 kg/= L 4h) 9,857 10417|- 560 | -5.38%

ZRH(1kg/=LH A 3,576 4,683 1,107 | -23.64%

SLt=E(18/5009) 2,298 2,491 193 | -7.76%

2|22 (1) 1,590 1,585 4 0.27%

BF(L) 1,400 1,415 15| -1.07%

S 1,314 1,339 24 | -1.83%

o 2319 360me/A01H) 1,499 1,499 - 0.00%
T 2= (18 500me/2 00 7) 1,642 1,659 17 | -1.00%




